o> lgio

851l Jagmo - ool ol aliwl @bl

ol olo,w diwl oL

6 5l loyzo

(74) axawo (1) wuyn
L@.|a.a..o uuuu.7| 1 OAN 42 Lb).la9 BJJI.)
' J=I

o £Y = laall

T & Y =851 Jacxa

BANVFE =
\

ew \YY = YY x 1=

:(75) axawo (2) wuyx

I5i0 o509 30 14 OVl LYgs Llas oIS 13
19 OY gl glaipw

Balgll 5,901 1

b9l caai 2

.6)_9.).“ &J_j 3

1/2



RO SR =
UE@% %\é 56131 Lo - g yall el aliwl oLl

' =
<<<< Bd>lgll Byeuldl (N
T &Y =850 Jaxeo
i x V& =
\%
pee= YV XY=

551001 Jauoes l\* <<<< Bygldl Cagas (Y

\
£t x—=
N
2 YY =
8,511 Jauo li«{{ Bygl oy (Y

\ _
Ef.xi-

.\a\".:

:(75) axawo (3) wuyx

JSadl 8225 Lumo o6 (1) JSaid] 8265 Lo 303 850 o5 daumall Clws 99

(o)
."""""“EJ'EG"E'{|| HPNA:JJ
() JSE <

: =l

o (4) 5 (0) Sl 826l bumo e (1) JSuidl 8265 Louzo s
2 lgio 2/2



